PTYRAMID A

221 60 Yamaha MT-09 Fly Screen Fitting Instructions

Kit Includes:
1X C22160 Fly Screen
1X CFK22160 Bracket

3X CBOLM50008 M5 X 16mm Stainless Bolt

3X CNUTM50001 M5 Rubber Anchor Nut

3X CWASM50001 M5 Washer

4X CBOLM60020 Mé X 20mm Stainless Hex Bolt
4X CWASM60003 M6 Washer

4X CCAPO0001 Bolt Cap

@ The Pyramid fly screen is simple to fit. Attach the fly screen to the bracket using the MS fixings supplied
(CNUTMS50001, CBOLMS0008 & CWASMSE0001). See Fig 1 and Fig 2 below for images.

® Remove the OEM bolts from the top of the headlight. Retain the flat washers from beneath these OEM bolts for
use when fitting the fly screen.

® Now fif the fly screen using the remaining items supplied in the fitting kit (CBOLM60020, CWASM60003,

CCAPOO0OT1).
A spanner/wrench will be required in order to access the top of the Mé x 20mm stainless steel hex bolts.

Check fixings periodically.

Fig 1

Any questions?
sales@pyramid-plastics.co.uk
+44 (0)1427 677990

www.pyramid-plastics.co.uk

You

Follow us on social media and
feel free to leave us a review!




